TWO DIGIT SUBTRACTION
KS1 —-2001 Paper

1.

32 | Write the answer,

5| — 27 =

KS1 —-2002 Paper

2.

33 | Write the answer.

63 — 37 =

KS1 -2003 Paper 1

3.

|5 | Write the answer.

30-15=

KS1 —2004 Paper 2

4.




Write the answer.

82 — 45 =

KS1 - 2005 Paper 1
5.

Write the answer.

25—-12 =

KS1 — 2005 Paper 2

6.



Write the answer.

72 —-29=

KS1 —2007 Paper 1

7.

Write the answer.

75 — L3 =

KS1 - 2009 Paper 1
8.



24

Ben works out the answer to this

57 - 16 =

Ben gets the answer 14

Ben's answer is wrong.

Show Ben how to work out the correct answer in the box.

KS1—2016 Paper - Arithmetic

9.

QOO

19 -9 =

17 -6 =




39 -8 =

87 — 40 =

50 —

= 20

14.




86 — 21 =

/70 - 18 =

KS1 — 2016 Paper - Arithmetic (Second)

16.



12 -7 =

Q
56 — 51

Q
28 + 35

O




71 — 14 =

1 mark

KS1 —2017 Paper — Arithmetic

20.

90 - 80 =




43 — 5 =

85 —-21=

KS1—2017 Paper — Arithmetic

23.




92 - 60 =

91 - 48 =




KS1—2018 Paper — Arithmetic

25.

18 - 8 =

88 — 4 =

27.




100 - 10 =

Q
63 — 4 =

Q
' 54 — 20 =

O




59 — 15 =

9?8 —

28




/4 — 47 =

KS1 - 2019 Paper — Arithmetic

33.

18 — 6 =




36.

80 — 10 =

O

—

mark

64 — 11 =




39 — 20 =

54 — 8 =

=19 -5




100 — 52
Q

' 62 — 54 = ‘
O




73 —-19 =

KS1 - 2022 Paper — Arithmetic

42.

100 -1 =




19 -3 =

1@,

41 — 10 =




45.

67 — 40 =

54 — 15 =




92-85=

O

—-50=>50

O




49.

66 — 38 =




